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8. What is reconnaissance survey? How it is

conducted. Describe?

TR gd&ur /T 2?7 g8 »9 fbar Srar 87?7
qufq &Y |

OR(3721dT)

The radius of horizontal curve is 240 m. The

designed speed is 80 kmph. Assuming the coefficient

of lateral frictions 0.15 calculate.

(1) The super elevation if full lateral friction is
assumed to develop.

(i1) The coefficient of friction needed if no super

elevation is provided.

foslt afasr as @1 5ar 240 o 21
siftrpfeaa fa 80 fholo Yo &ieT 2 |
uii¥des a1 e 0.15 A §Y AVET P |
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Time : 3Hrs. Sem. V-C/C(A)
Highway Engg.

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol & SR <, TAS U & A9 63(FH 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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OR(3721d1)

Write the name of different laboratory tests carried
out for road aggregate.

s U & ford @ o= arell faftr=
YANTIMAT Sifa &1 -9 ford |

Write the purpose of traffic volume study.

ATATATA SR JETTT & ST ford |
OR(37214T)

What is the function of Breast wall in a hill road.
Write.

UEre) ds@ # 987 <dldrad &1 &1 3yef 27
fored |

What is the necessity of providing cross drainage
works in road construction enumerate.

Ts& fior § g oia el ard 9
T ATATISHAT 27 Seal@ N |
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(i)

(iif)

(iii)

(iv)

3 1615504

ANTYR G$® ATl a9 &I AT of—
(31) 10 auf & ford
(@) 20 asf @ ferd
(d) 30 auf @ ford
(%) 40 anf & ford

According to nagpur road plan the any point
of farming and developing area is determined
at not

(a) More than 5 km from pucca road

(b) More than 6 km from pucca road

(c) More than 7 km from pucca road

(d) More than 8 km from pucca road

ARTYR US& Aol B IR, VRER
9 fasfia a3 &1 313 fag saferd
8 fuifRa faa gu 23—

(SI)qTﬁfﬁ ds® 9 s5fholo A atfered -12Y
@)udd! dsH A 6fbhoilo | 3uftres 1Y
(@)uad! ds® A 7fdodlo A ftred &
()uad! ds® 4 sfbolo A Afered )

The object of reconnaissance survey is :

(a) To locate the sources of construction
material

(b) To locate source of water

(c) To locate the position of hills

(d) All of the above

P.T.O
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ORI
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GROUPB

Answer all Five Questions.

g uig g & SR o

2. Write the significance of Nagpur road plan.

4x5=20

ARTYR GS$ ISl &I Agd ford |
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(vi)

(vii)

(vii)

(viii)
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S®H BT &I A9 Siar 8-
(31) yxarfaa as&

(@) e ws@

(|) S aren 4= I

(]) SRR & wu+i

Excessive camber on road may cause:
(a) Erosion of the berm

(b) Slip of the speedly vehicle

(c) Deteroiration of center position
(d) All of the above

ASH U MG HHR HY Adhdl a—
(@1 @ &1 BeE

(@) wfcrefrer I @1

(@) weg Reafa #1 frmae

(?) SR & a+ft

The portion of the road surface which is used
by vahicular traffic is known as;

(a) Carriage way

(b) Shoulder

(c) Express way

(d) All of above

P.T.O
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(xvi)

(xvii)

(xvii)

(xviii)
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YISl 9@ @& BIRAYE & SWR fad M
daR Hedral a—

(31) R dara

@) gzar <rard

() 9g ara

(]) SWR 4 4 HIg T8I

As per boarder road organization, the hill
roads are classified as:

(a) Class 1

(b) Class 2

(c) Class 3

(d) All of the above

AT G 6 & JJUR USIS! 4SS
Fiftepa fear smar 8-

(31) i 1

(@) @I 2

(|) @cmd 3

(]) SR & aft

The system of disposing the water collected
in side drains across a road is known as:

(a) Surface drainage

(b) Sub surface drainage

(c) Cross drainage

(d) None of above

NT5019

x)

(xi)

(xi)

(xii)

7 1615504

Hrodlo3Ro Tdlegur TUdh JhIX B—
(31) IruwUT yheEur H1

(@) " & o1

(|) g9 & &1

(]) SR &1 BIg T2

Abrasion test is carried out on aggregates to
find:

(a) Hardness

(b) Toughness

(c) Crushing strength

(d) Water absorption

Wrs GIevT fHar Sirdar @ od o)1 @
ford wifliie @1—

(31) Polxar

() gear

(4) srauor et

(2) STel Sraeiyor

The residual product obtained by destruction
distillation of organic matter is known as

(a) Tar

(b) Asphalt

(¢) Bitumen

(d) Cut back
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10.

(i) argara= afs g1 uiRde gy I grar
2, 74 o |

(ii) afe argar=m= T8 f&ar ™ 8 al Aas
IIEATT |

Explain flexible and rigid pavement. Differentiate

between them in a tabular form.

SEIdT 9 Ud g¢ U 9HSId | AiRviilag ax
g4 fave @ |

OR(372rd)

What is soil stablised road? Describe mechanical

soil stabilization method in brief.

a1 Rerdigpa G F1 2?2 IifH® a1
Rerfiavor fafey &1 dag & quiq & |

Describe different types of traffic sign.
6

faftr=1 yeR & Frarard God b1 9ofa B |
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(i) argara= afy g1 uiRde gdor I grar
2, 79 o |

(ii) afe argar=m= T8 f&ar 1 8 al AaEs
IIEATT |

Explain flexible and rigid pavement. Differentiate

between them in a tabular form.

JEIdT 9 Ud g¢ U 9HsMd | AiRviildg ax
g fave @ |

OR (372rd)

What is soil stablised road? Describe mechanical

soil stabilization method in brief.

a1 Rerdigpa G Fa1 2?2 I a1
Rerfiavor fafer &1 d&ig 9 qufq &Y |

Describe different types of traffic sign.
6

faftr=1 yeR & Frarard God BT 9o B |
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